Lattice Multiplication (E)

Use lattice multiplication to find each product.

2 1 7 8 7 7 4 4
1 9
2 2
7 1
1 1
3 3
2178 x 12713 = 7744 x 92113 =
79 6 1 2 0 7 1
1 1
2 0
7 6
9 8
9 7
7967 x 12799 = 2071 x 10687 =
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Lattice Multiplication (E) Answers

Use lattice multiplication to find each product.

2 1 7 8 7 7 4 4

0o /To To T0 /] 4 6 16 /13 T3 /] o
0 2 | 7 8 7 3 3 6 6

0 0 1 1 ) ] ] 0 0 o)
2 4 2 4 6 1 4 4 8 8

L0 4 A5 /) 4 0 10 10 10 ] ,
7 4 7 9 6 3 7 7 4 4

0 0 0 0 1 0 0 0 0 1
6 2 1 7 8 3 7 7 4 4

0 0 2 2 3 2 2 1 1 3
8 6 3 1 4 2 1 1 2 2

8 9 1 4 3 0 7 2

2178 x 12713 = 27,688,914 7744 x 92113 = 713,323,072
7 9 6 7 2 0 7 1

0 0 0 0 1 0 0 0 0 1
1 7 9 6 7 0 2 0 7 1

1 1 1 1 ) 0 0 0 0 0
0 4 8 2 4 2 0 0 0 0

4 6 4 4 7 | 0 4 0 6
1 9 3 2 9 2 2 0 2 6

6 8 5 6 9 1 0 5 0 3
9 3 1 4 3 1 6 0 6 8

6 8 5 6 9 1 0 4 0 7
6 3 1 4 3 3 4 0 9 7

9 6 3 3 2 7 7 7

7967 x 12799 = 101,969,633 2071 x 10687 = 22.132.777
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